A 4

A

IV. Given: 22 = £3

Prove: 2«1 = 24
1. 21 = 22 1.
2. 22 = «£3 2.
3. 23 = 4 3.
4, 21 = z4 4,

V. Given: z1and «2 are complementary
— —
Prove: XA 1 XC

1. z1and «2 are complementary | 1.
2. mz1+ mge2=_ 2.
3. M£AXC =mz1+mz2 3.
4. mz£AXC=__ 4.
5. zAXC s aright angle 5.
6. 6.

—

VI./ Given: « 1 and «2 are supplementar
Prove:_«3 and 4 are supplementar

v

A
v

/
ond %2 e sopptbmu,AwB 1.

Given

Def. of supplementary angles
Vertical angles are congruent
Def. of congruent angles

1
Substitution QQ(J lacment

. Def. ij_v_epm/\j



VII. Given: BD bisects <EBC

A N
Prove: <1 and <3 are supplementary ‘
statements F reasons
1. BD bisects <EBC 1. Glven
2. DeSinian 8 bisechr
3. <2 and <3 form a linear pair 3. DQ—Y—{,I H—,M o'l; "W P“ o

180 4. Delindo ot [ rar ,m;f

5. Defiaihim o C Wtj“""“j
6. M<1 +m<3 =180 6. S\,Lg]{—;{r‘n}w
7. <1 and <3 are supplementary 7. 'DA([ oq( S‘QFP W‘/@

VIIl. Given: <FEC is aright angle

Prove: <1 and <4 are complementary

statements reasons
1. <FEC is aright angle 1.
2. m<FEC =90 2.
3. m<FEC = m<1 + m<2 3.
4. m<1l+m<2=90 4,
5. <2=<4 5.
6. m<2=m<4 6.
7. m<1+m<4=90 7.

8. <l and <4 are complementary 8



Geometry Chapter 2 Pre-Test

1.) (16 pts total, 4 pts each) (2.1 Conditional Statements) For each statement, identify both
the conclusion and hypothesis, provide the converse, and assess the validity of the
converse statement.

a) If yogurtis green and smells weird, then(you probably should not eat it.
_— )
W 9
Convarse \‘F joo s\/\ouu wst ‘Q":\‘ “'}' He.,
\,y (s ~:> quf"f /]’L«:L(s F%h/\»,Q n\a-“
g<\)) b) If you pee in the bath ub, then you have done somethlng very wrong. Lo
_— J
\'\,)(, Con (.
COV\VW: :I,f— 3 \'\uvﬁ A«V\M- Sovwes h—u
wrw~3/ ’)/L&m :jo © l"wwe P—Q_l_& U~

s~
< c) If you are eating a delicious burrito, then you are eating Mexican food.

d) Ifx 5, then x? = 25
e

JP m C
Canv: |+ K’L’KZY, ’H/\QM X =S

’S;-Lﬂ Cd\vi—\-er—cW?(e XZF?



2.) (16 pts total, 4 pts each) (2.2 Biconditionals and Definitions) Each conditional statement
is true. Write and consider the converse. If the converse is true, combine the statements
and write them as a biconditional.

a) If you are a fan of the Boston Red Sox, then you are a fan of the 2018 World
Series Champions.

b) If you are friends with Nate, then you are accustomed to disappointment.
L— - l
f conc.
C/or\V : \—‘; BOJ cre CLcc,us«(-\urvs& _t* Aﬁdafffdmt
/‘/(/CA/\ Yo~ O ‘g\'?em,Qa L/\:“H,\ Nxt .

S(Lu\/”’ £l Musky

c) If you are JgfBewes, then you are the richest-man in the world.
Crc. \ \
C_;r\,\l § j.&’\' :)u\) wQ:-HO- { To\,d" *(wb v /ﬂ\-\(—d?r -\
/X/L_{M 30 J oo MV\S |L3 .

d) If you own a raccoon, then you have made a poor decision.

el B«'cw&%‘mﬁ shitied ﬁ J
Yoo wrete e il Ay - Ve e
@/m&mh) A\/ qeeo e M“Lj




3.) (8 pts total, 4 pts each) (2.3 Deductive Reasoning) Use the Iawm(__f_d_eta.ch.mgnt to draw a
conclusion. If not possible, write not possible.

AAa D
— V -
a)Mare a fan of Macklemo@)then you have poor taste in music.

Nate has poor taste in music.

N 6 Q_w\c,\l&AS\/\/\

oy P N o

b)T”—yUu Say you're going to bring donuts and don’t bring donuts} then_Haanah is
~going to knock you out.

Nate said he was going to bring donuts and didn’t.

N Hvans Lasts & (\ch;

4.) (8 pts total, 4 pts each) (2.3 Deductive Reasoning) Use the law of syllogism to draw
conclusions from the following statements.

a) If Nate loses his hair, then he will be sad and depressed. If Nate-is-sad-and”
—depressedrthen he will buy a Cold Stone Creamery franchise and eat ice cream
all day every day.

Nate found two hairs on his desk.

Nete Wil \QJJ ¢ SC N& e,wj\\wcwt?fo

b) If you do well in school, then you will go to college. If you go to college, then you
will be more likely to have a successful, fulfilling professional career.

Charlie is doing well in school.



5.) (16 pts total, 8 pts each) (2.4 Reasoning in Algebra) Complete the following proofs.

a) Given: 8x +3 =43

Prove: x =5
Statement Reasoning
1) 8x + 3 = 43 1) Givem
-3 -3

2.) 8x =40 2) Su\o Co&
3)x=5 3) Div P&E

b) Given: 3(2a-5) =45
Prove: a=10

Statement Reasoning
1) 3(2a - 5) = 45 1) Give
2.) 6a-15=45 2.) QIA\P\\% of
HE 41S T
D! S"‘ft LU’\'\M

3.) 6a = 60 3) w POE
4)a=10 4) Tju Pof_’-



b)

n

Prove: <1 =<4

, ,
m)ﬁil i/2 3\4 "
o Y

statements reasons

1. c’.land-::zformalinearpaj:r L ’DK? 5‘(:‘ \;/\.O.nJ P:f

=3 and <4 form a linear pair

2. <1 and <2 are supp. 2. Det ot $UFP\JM:’W\

<4 and <3 are supp.
3. <2=<3 3\ k31186 3 Govean
4. <l=<4 4%"’87\”\80 4, &Ls'}‘)r’)‘\/’h/l/l

X | uc,z 2%+ 1Y

c)
1 +43 53034 | ’
Given: F R A N
Prove: ’
L— \
Reason
é ?M

Szgmef AN Rt

AP
S\)LS’H‘I\"HM

Sa(as{f/\v’,fn/. of”
§3\]03fmn
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